= o
N & o & AF & H Al A
20228 & =04 LBHSIH 2EE A
AN €L
g NSmgieg
Crel: ZZIIBOIF AL CEEEED
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
rag=—R-gaini; 74,435,826 62,647,608 11,788,218
s 17,628,800
J| 8,100,000
< 48,707,026
ANz 31,349,991 30,516,420 833,571
s 17,598,800
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23208 X & 709,491 6,460 703,031
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OZ3J71& 54 | N 27,000,000 27,000
202 Odl 2,601 3,060 A 459
01 =LH YI 2,601 3,060 A 459
O33J1& OlFXd gR=2 2,601,000 2,601
301 LEEXZ 9,000 0 9,000
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9,000, 000 9,000
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100,000, 000 100,000
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s 2,283,000
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s 2,283,000
< 685,000

NAYHEERE 510,900 4,221,100 A 3,710,200
s 393,000
< 117,900

NAUMEXE L AEAY XA 510,900 587,600 AT6,700
s 393,000
< 117,900




SN RYELED
M XEZEINLE
S ETE RS- CERED
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 510,900 587,600 ANT6,700
Fag 393,000
& 117,900
01 AIXSHMEMNEX= 510,900 587,600 ANT6,700
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NEZIss 9™ M 60,190 65,600 N5,410
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201 LBt 17,690 20,600 AN2,910
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OXNZItsed =2 14,450,000 14,450
03 A2 | 3,240 3,600 A 360
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BtEo) T2AME FX 256,660 253,600 3,060
EEto T2ME =X 16,660 13,600 3,060
201 et 9| 16,660 13,600 3,060
01 AR 22l ] 16,660 13,600 3,060
Qstetol T2NME =X 16,660,000 16,660
BEo] ZE OHE(HEALY) 240,000 240,000 0
201 Bt 240,000 240,000 0
03 A2 G HI 240,000 240,000 0
Oststoll =& i = 240,000,000 240,000
WEES=S(DELED) 42,667,000 31,689,000 10,978,000
HWEHH XS (e E ) 42,667,000 31,689,000 10,978,000
NEFEHLEAY XA 42,667,000 31,689,000 10,978,000
701 JIEIS HSHEZ 42,667,000 31,689,000 10,978,000
01 JIEIS HE =2 42,667,000 31,689,000 10,978,000
O7SEYNMEYE3H M52 42 ,667,000,000 42,667,000
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J2ZH(ZgeAn) 41,985 55,088 A 13,103
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202 44l 18,360 24,480 26,120
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